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Problem 1 % p=p(R), f=f(R), X+ R=[R|=|r-r|4% st FREGES. KAAR,
¢ (R)=dp/dR X f'(R)=df /dR 2+ F @ & X:
Vo(R), VF(R), V-f(R), Vxf(R)

Problem 2 24vd. b A% %%, me=9(r). f="1(r) 2N 2IURM FROESGIFEH L
Y, R A TEEREOHE. HE AR

1) (a-r)b, ) (a-r)r, (3) axr, (4) rx(axr)

(5) o(r)(axr), 6) o(r)f(r), (7) rxf(r)

Problem 3 4E8H ;

ng&:O and l<j'>d6.r=v
oV 3

ov

Problem 4 % rbi4r23%¢9 Green X, /& Gauss ‘Eﬂzjv dvVv-F :Sf)FVd&- F & 5 5] 4

F:Fx(ng), If:fx(ng)—gx(VxF) and If:Fx(VxF)o

13-%) & & %45 Green 2 X.o



